®

@ LT

@ Yy 371 A2
® 125 ~ @300
© YR0s FENg

© Cierst BatzTE

@

YCDL [LBM125}—{5|0}—
@

> ©

QRN ES 300 : A2 L§Z 300mm ® HEx Bt
YCOL : ChgAl2Ir] eR0lERE 0lauE WY J LR EEE
YCL : CHYARIC OIIH|E HILY @ ARl BX AEZ2S

@ XIxiaT @140 25,50, 75, 100, 125, 150, 175,200,260 @ LEALIR|

300, 350, 400, 450, 500, 600,700 ABAK : QEAQIR| A

18 =8¢ gfﬁﬂ @140 : 25,50, 75, 100, 125, 150, 175, 200, 250

FA 1 225 EaIRIB 300, 350, 400, 450, 500, 600700 o
FB : S=5 SR 0160 : 25,50, 75, 100, 125, 150, 175, 200,250 & ZE2FIX #7112
CA @ 1A S3fH|A 300, 350, 400, 450, 500, 600,700 P12 WA
€8 : 241 el 0180 : 25,50, 75, 100, 125, 150, 175,200,250 O =

1C: MRS 300, 350, 400, 450, 500, 600,700 N : N7 2t

TA RS EAU 200 : 25, 50, 75, 100, 125, 150, 175, 200, 250

T8 : sj== 2Lt 300, 350, 400, 450, 500, 600,700

=i @250 : 25, 50, 75, 100, 125, 150, 175, 200, 250

e ABI LA 300, 350, 400, 450, 500, 600,700

1% i;g LH;’ 12omm @300 : 25, 50, 75, 100, 125, 150, 175, 200, 250

140" SEH LS T40mm 300, 350, 400, 450, 500, 600,700

160 : AJ2IC L 160mm ]

180 @ A2IH L& 180mm 6 BHai2

200 : &2IH LHZ 200mm YoM L2 ROIE

250 : A2 LHF 250mm |2 1AFLZ X0IE

& QEAQIX| ZH

& BA X|X|57 SH

=t 55 Solzies AR =M AL
D-A54K MR DC5~AC230V | TN QEALR| YCLH@)-B TEY XIXIZ
D-A54X CIEESES DC24V SFE(NPN,PNP) YCL~@)-FA e NP =
D-LB-14 125 AQ|X| Hapd YCL~(@)-CA 140 Z2fH|A
D-1B-14 140 A9IX| 22134 YCL~@)-CB 24t SfH|A
D-LB-16 160 AQ|%| Hafzl YCL~@)-TC EL|A 7
¥ QEAYIR| TZOE : D-ASUK : 1M, D-ASAK-L3 : 3V, D-ASUKL5 : 5M e al 28 HSEUE
YCLH @) 1A HEx01E

128 YPC




my ooivzn 55wz YCL

¢ M =AY

EiFZAl 25 H2c
AIZ A 37| L EL A
ZIMAE = 0.1Mpa(1 kgf/cm?)
E|DALE L 1.0Mpa(10 kgf/cm?)
=R 1.5Mpa(15 kgf/cm?)
2 M oflofFM
REAILHZE DaHE SM

79 9 NgRH 2

5~ 60°C (41~ 140°F)

= S FER (S8A1S0 VG324)
- _ 712 ZES SHX|Y 1A EYH|IAY
= SIAl S T=38, = S, = S
FTAIXI BA DA ZRHIAS, ERiLIoS
FEX|X A 2 2R
Ham HEYA MEARRS
e R aeue | sodEde | gablasE | wuEzels | atugsee | T0S w2ox
[
713 0 0 - 0 0 0 0
Zuist ZES 0 0 - 0 0 0 0
RCE ZAUXH 0 0 - 0 0 0 0
sl== EUAH 0 0 - 0 0 0 0
14 SailH| A3 - 0 - 0 0 0 0
oA ZRHIAH - 0 0 0 0 0 0
EgL A 0 0 - 0 0 0 0
& QEAQIX| AJQF
yZAY Agix| B (=) ) 2= 4200 e B xges|
@125 Azl
D-LB-14
Alz|
@140 A=A D-LB-16
o
2160 A2 D-ABUK 2MN(STE) DO5VAAC230V g ng ' 31,\/]“" 213)0]
@180 A2 D-A54X~{N)(P) 3uM(REE) (REHH:DC24V) Ty ARA
- D-1B-18
@200 Al2Ic D-LB-20
- D-1LB-24
@250 Al2i

www.ypc.co.kr 129




AEEEES

<l

*

i
&l
1o
o
KH
&

8) (8 (0

ff‘
NS4

> TH2E

0 0 0} no [0} fo | ro o
I N W W A
B[ U] o Y| oo - [SERIE &l
Haew_.aew_.ma_._._:._ o S|o S
= |0 S0 | R | EA )
RO RO RO |5 E
]
ol (| (|| R
| D ol ol MO > ol & 0| %0 = “
Ko R R | TR R Y| MR 5888 E B S E S
xa. i 214 o i w|m| | e ==1=212)2)\2)| 2|V g
St U ou| W
3N
ool NolNelNe] [oNNe)
OO |O©| O | W O | O
— | M| — M A — | ™
@@@QQ%@@
22l |®m 2|2
wlolw|lolwig|lwlo
AN | OO [N |0 | N AN | OO
ISERSERSERSEES] ISERS T IﬂolﬂA.:lE_
%0 || 0] 4] || D o 22 0 2 B S
K Tl 2 SERE || N R
B0 WD of |25 [0y S| 20 (W T D ||
eI R R IR AL I
= <A@ | T or w5 | 2L <] R
[} m- El o
2] )
w & | oo | W
u ) we |2
B =]
Bl - | « | o | v |o|le|~|w|o|2z||23|e|e|=|2|2|g|5

130 YPC



ma oojvzn g5 -mzc YCL

FA. G P(PT) G -

28Z KA

OE
@D

i
[T LI
EESE

H S+ AEET M oB

77+ AEE3

ath

-4

h+0
ZZ1+ 0 +AERT

A3 HY
(mm)

SEHZ A |AL|oB|oC| D | E|EA| F |FA| G J K |1KA| M MM N|P|S

0125 ~1000 50 | 47 |145|115| 36 | 90 | 59 | 43 | 14 | 14 |M14 X 15| 15 | 31 | 27 |M30 x 1.5| 35 | 1/2| 98
2140 ~1000 50 | 47 [ 161|128| 36 | 90 | 59 | 43 | 14 | 14 [M14x 15| 15 | 31 | 27 |M30 x 1.5| 35 [ 1/2| 98
2160 ~1200 56 | 53 | 182|144 | 40 | 90 | 59 | 43 | 14 [185|M16 X 1.5 | 17 | 36 | 30.5 |M36 x 15| 39 | 3/4| 106
2180 ~1200 63 | 60 [204|162| 45 | 115| 70 | 48 | 17 [185|M18 X 15| 20 | 41 | 35 |[M40 X 15| 39 | 3/4| 111
@200 ~1200 63 | 60 [ 226|182 | 50 |115| 74 | 48 | 17 {185 M20 X 15| 20 | 46 | 35 |M45 X 1.5| 39 | 3/4 | 111
2250 ~1200 71| 67 |277|225| 60 | 140| 86 | 60 | 20 | 23 | M24 X 15| 25 | 56 | 415 | M56 x 2 | 49 | 1 | 141
3300 ~1200 80 | 76 [330|270| 70 | 140| 96 | 60 | 20 | 23 | M30 X 15| 30 | 65 [ 515 | MB4 x 2 | 49 | 1 | 146

¥ MROR DAt

wzox wzox wif

H e f h 0 771

Q
N |G

FEUZ

@125 | 110 | 235 | 75 | 40 | 133 | 0.2 AEEF | 258

@140 | 110 | 235 | 75 | 40 | 133 | 0.2 AE23 | 258

@160 | 120 | 2565 | 75 | 40 | 141 | 02 AEE3 | 2775

©180 | 135 | 281 | 85 | 45 | 153 | 0.2 AEE3 | 299

@200 | 135 | 281 90 | 45 | 163 | 0.2 2E23 | 299
@250 | 160 | 3425 | 105 | 55 | 176 | 0.17 AEE3 | 3585

@300 | 175 | 3725 | 115 | 55 | 190 | 0.17 AEE3 | 3875

www.ypc.co.kr 131



= xr =
» EC= EMXIE (YCDL FA)
FA G P(PT) s G 4-@FD 4~
2B1E KA T T
MM L B _ L
| =
|
—
-
| -
AL |ET| o C
A K E N RT N oB
H S+AEZT M FX
ZZ+AEE3 FZ
WRex 23}
N
ht 0
ZZ1+Q+AEET
=3=10 P2 ;%’I—T(mm) A |AL| B |oB|oC| D E |[EA| F |[FA|FD|FT |FX |FY |FZ | G J K|KA| M| S N P MM
@125 | ~1000 | 50 | 47 | 145|145 |115| 36 | 90 [ 59 | 43 | 14 | 19| 14 | 190|100 [230| 14 | M14 x 15| 15| 31 | 30 | 98 | 35 | 1/2 |M30 X 1.5
@140 | ~1000 | 50 | 47 | 160 | 161|128 | 36 | 90 [ 59 | 43 | 14 | 19 | 20 | 212|112 |255| 14 | M14 X 15| 15 | 31 | 24 | 98 | 35 | 1/2 | M30 X 1.5
@160 | ~1200 | 56 | 53 | 180|182 | 144 | 40 | 90 | 59 | 43 | 14 | 19| 20 | 236 | 118|275 [185|M16 X 1.5 | 17 | 36 | 26 | 106 | 39 | 3/4 | M36 X 1.5
@180 | ~1200 | 63 | 60 | 200 (204 | 162 | 45 |115| 70 [ 48 | 17 | 24 | 25 | 265 | 132|320 [185| M18 X 1.5 | 20 | 41 | 31 [111| 39 | 3/4 [ M40 X 1.5
3200 | ~1200 | 63 | 60 |225|226|182| 50 | 115| 74 | 48 | 17 | 24 | 25 | 280|150 |335|185|M20 x 1.5 | 20 | 46 | 31 | 111| 39 | 3/4 |M45 X 1.5
@250 | ~1200 | 71 | 67 | 275|277 |225| 60 | 14086 | 60 | 20 | 29 | 30 [355|180|420| 23 | M24 X 15| 25 | 56 | 35 | 141| 49 | 1 M56 X 2
@300 |~1200| 80 | 76 |330|330|270| 70 [140| 96 | 60 | 20 | 33 | 30 | 400|212 |475| 23 | M30 x 1.5 30 | 65 | 48 | 146| 49 | 1 | M64 X 2
5 AEE39| 4R
A Hzox i | =2xez3
Edl] EH}Z S =E
FELU H 7z o f h 771 FEU wo| RT RY | ZZ | ZZ1
@125 | 110 | 238 | 75 | 40 | 133 | 0.2 AEE3 | 261 @125 | 1401 ~ 1600 | 36 | 164 | 230 | 253
@140 | 110 | 232 75 40 | 133 | 0.2 2AE=23 | 255 2140 1401 ~ 1600 36 184 | 227 | 250
@160 | 120 | 257 75 40 | 141 | 02 AER3 | 273 2160 1401 ~ 1600 45 204 | 248 | 269
©180 | 135 | 277 | 85 | 45 | 153 | 0.2 AEE3 | 295 2180 | 1801 ~ 2000 | 45 | 228 | 272 | 290
@200 | 135 | 277 90 45 | 163 | 0.2 2AE23 | 295 2200 1801 ~ 2000 45 257 | 272 | 290
@250 | 160 | 336 | 105 | 55 | 176 | 0.17 AEE3 | 352 9250 | 2001 ~ 2400 | 55 | 325 | 331 | 347
@300 | 175 | 369 | 115 | 55 | 190 | 0.17 AEZ3 | 384 @300 | 2001 ~ 2400 | 55 | 390 | 357 | 372

132 YPC




ma oojvzn g5 -mzc YCL

= | A
A2 X+
- > II =
> SI== ETXH (YCDL FB)
FA G PPPT) 4-@FD 4-J
S e i
MM il [ - 1 L
iin | B [@ ®lo
— = | I |
o g g %{ - - - o 2 | PC 4 —
= | |
| |
| | |
. & @
. o ©
A K F N N ‘ aC
H S+ AE2R3F FT. 0B
77+ AE23 FX
FZ
2Z1+0+AERT
E8L4E ﬁ_’imm) A |AL| B |oB|oC| D | E |EA|F |FA|FD|FT |FX|FY |FZ| G J K|KA| S| N|P MM
@125 | ~1000 | 50 | 47 |145|145|115| 36 | 90 | 59 | 43 | 14 [ 19| 14 {190 | 100|230 | 14 | M14 x 15| 15 | 31 | 98 | 35 | 1/2|M30 X 1.5
@140 | ~1000 | 50 | 47 | 160 | 161|128 | 36 | 90 [ 59 | 43 | 14 | 19| 20 | 212|112 |255| 14 | M14 x 15| 15 | 31 | 98 | 35 | 1/2 [M30 X 1.5
@160 | ~1200 | 56 | 53 | 180|182 | 144 | 40 | 90 | 59 | 43 | 14 | 19| 20 | 236 | 118|275 [185| M16 X 1.5 | 17 | 36 | 106 | 39 | 3/4 | M36 X 1.5
@180 | ~1200 | 63 | 60 | 200|204 | 162 | 45 [115| 70 | 48 | 17 | 24 | 25 | 265|132 | 320 [185| M18 X 1.5 20 | 41 | 111| 39 | 3/4 | M40 X 1.5
3200 | ~1200 | 63 | 60 | 225|226 |182| 50 | 115| 74 | 48 | 17 | 24 | 25 | 280|150 | 335|185 M20 x 1.5 | 20 | 46 | 111 | 39 | 3/4 |M45 x 1.5
@250 | ~1200 | 71 | 67 | 275|277 |225| 60 | 14086 | 60 | 20 | 29 | 30 [355|180|420| 23 | M24 X 15| 25 | 56 |141| 49 | 1 | M56 X 2
3300 |~1200| 80 | 76 |330|330|270| 70 [140| 96 | 60 | 20 | 33 | 30 | 400|212 |475| 23 | M30 x 1.5 30 | 65 | 146| 49 | 1 | M64 X 2
W2RRYS W2QX HE
EHLjZ
REEE T Z e [ ¢ | h 0 771
@125 | 110 | 222 | 75 | 40 | 133 | 0.2 AEET | 261
@140 | 110 | 228 | 75 | 40 | 133 | 0.2 AE23 | 255
@160 | 120 | 246 | 75 | 40 | 141 | 0.2 AEE3 | 273
@180 | 135 | 271 | 85 | 45 | 153 | 0.2 AEEF | 295
@200 | 135 | 271 90 | 45 | 153 | 0.2 AE23 | 295
@250 | 160 | 331 | 105 | 55 | 176 | 0.17 AE23 | 352
@300 | 175 | 351 | 115 | 55 | 190 | 0.17 AE23 | 384

www.ypc.co.kr 133




*

ke

2i]

>

|5~

» 14 Z3H|AH (YCDL CA)

FA G_, P(PT) ‘ G_, @CDrio 4-J
2BE KA
A\ dAT=—". / @@
—
— —
438 3 - - - - -
s L1 P
- [
A =—==—-n @ &)
AL i NS Z
A K, F N N CT. U ‘ CX
H S+ AEZ23 L oC
Z+AEZRT RR oB
77 + AEZF
ht+ 0
ZI+0+AEZS
771 +(+AERT
suuyy (*SEEH A AL oB|oc| co |cT| ox | D | E[EA| F[FA| G| J | K[KA|S|N|P|L[RR|U| mu
@125 | ~1000 | 50 | 47 |145|115|255°% | 17 |322% | 36 | 90 | 59 | 43 | 14 | 14 |M14 x 15| 15 | 31 | 98 | 35 | 1/2| 65 | 29 | 35 | M30 x 1.5
@140 | ~1000 |50 | 47 | 161|128 285" | 17 | 3675 | 36 | 90 [ 59 | 43 | 14 | 14 [Mi4 x 15| 15 | 31 | 98 | 35 |1/2| 75 | 32 | 40 |M30 x 1.5
@160 | ~1200 | 56 | 53 [ 182|144 |32,"'™ | 20 [ 4053 | 40 | 90 | 59 | 43 | 14 [185|M16 x 1.5| 17 | 36 [106| 39 | 3/4| 80 | 36 | 45 |M36 x 1.5
@180 | ~1200 | 63 | 60 | 204|162 | 40>' | 23 | 50755 | 45 |115| 70 | 48 | 17 [185|M18 X 1.5| 20 | 41 |111| 39 | 3/4| 90 | 44 | 50 | M40 X 15
@200 | ~1200 | 63 | 60 | 226|182 | 40,™'® | 25 | 5053 | 50 [115| 74 | 48 | 17 [185/M20 x 1.5| 20 | 46 | 111| 39 | 3/4| 90 | 44 | 50 | M45 X 1.5
@250 | ~1200 | 71 | 67 |277 |225|505>™ | 30 | 63353 | 60 [140| 86 | 60 | 20 | 23 |M24 x 15| 25 | 56 [141| 49 | 1 |110| 55 | 65 | M56 X 2
@300 | ~1200 | 80 | 76 | 330|270 | 635 | 37 | 803 | 70 [140| 96 | 60 | 20 | 23 |M30 x 15| 30 | 65 |146| 49 | 1 |130| 68 | 80 | M64 X 2
FECETTES UZOX Bt
EHLjA
REUE H| z | zz | e f h 0 Z1 | 721
@125 | 110 | 273 | 302 | 75 | 40 | 133 | 02 AER3 | 296 | 325
@140 | 110 | 283 | 315 | 75 | 40 | 133 | 02 AER3 | 306 | 338
@160 | 120 | 306 | 342 | 75 | 40 | 141 | 02 AER3T | 327 | 363
@180 | 135 | 336 | 380 | 85 | 45 | 153 | 02 AE®23 | 354 | 398
@200 | 135|336 | 380 | 90 | 45 | 153 | 02 AE®R3 | 354 | 398
@250 | 160 | 411 | 466 | 105 | 55 | 176 | 0.17 AERT | 427 | 482
@300 | 175 | 451 | 519 | 115 | 55 | 190 | 017 AER23 | 466 | 534

134YPC




ma oojvzn g5 -mzc YCL

o ARIC| FRE

» 24t Z3jH|AE (YCDL CB))

FA G PPT) G_, BCDs10 4-J

==t /@], 0

=
=
M

=
I
I
=
(@)
NS4

AL

H S+ AEE3 L Ccz
Z+AEES RR o C
77+ AERT oB

Z1+Q+AEZRT
771 +Q+AEES

AERT HY
(mm)
@125 | ~1000 | 50 | 47 | 145|115|25:°% | 17 | 3221 |64 %,| 36| 90 |59 | 43 | 14 | 14 [M14x 15| 15 | 31 | 98 | 35 | 1/2| 65 | 29
@140 ~1000 50 | 47 | 161|128 2830'084 17 36@:; 72 %_z 3690 |59 |43 |14 |14 | MI4x 15|15 |31 |98 |35 |1/2| 75| 32

@160 | ~1200 | 56 | 53 | 182 144 (325> | 20 [ 40354 |80 %.| 40 | 90 | 59 | 43 | 14 |185| M16 x 1.5| 17 | 36 | 106 | 39 | 3/4 | 80 | 36

A | AL |oB|oC| CD" | CT | CX Cz |D|E|EA| F |FA| G J K|KA| S| N|P|L/|RR

@180 | ~1200 | 63 | 60 | 204 162 | 405> | 23 [ 50754 | 100%,| 45 [115| 70 | 48 | 17 |185| M18 X 1.5| 20 | 41 |111| 39 |3/4| 90 | 44

@200 | ~1200 | 63 | 60 | 226|182 405> | 25 | 50205 | 100%, | 50 |115] 74 | 48 | 17 |185| M20 x 1.5 | 20 | 46 | 111| 39 |3/4| 90 | 44

@250 | ~1200 | 71 | 67 |277 | 225|505 | 30 | 63754 | 126%, | 60 |140| 86 | 60 | 20 | 23 | M24 x 1.5 | 25 | 56 |141| 49 | 1 [110] 55

@300 | ~1200 | 80 | 76 | 330|270 | 6357 | 37 | 803 | 160%,| 70 |140| 96 | 60 | 20 | 23 | M30 x 15| 30 | 65 | 146| 49 | 1 |130| 68
wzoxols FECEYTED

EHLjA

wauz) U MM H| z | zz]| e f h ] 1 | zz

@125 | 35 [M30 X 1.5| 110 | 278 | 302 | 75 | 40 | 133 | 0.2 AE23 | 296 | 325
2140 | 40 (M30 X 1.5 110 | 283 | 315 | 75 | 40 | 133 | 0.2 AEZ3 | 306 | 338
@160 | 45 |M36 X 15| 120 | 306 | 342 | 75 | 40 | 141 | 0.2 AEE3F | 327 | 363

2180 | 50 (M40 X 1.5| 135 | 336 | 380 | 85 | 45 | 153 | 0.2 AE23 | 354 | 398
9200 | 50 [M45 X 15| 135 | 336 | 380 | 90 | 45 | 153 | 0.2 AEE3 | 354 | 398
@250 | 65 | M56 x 2 | 160 | 411 | 466 | 105 | 55 | 176 |0.17 AEE3 | 427 | 482

@300 | 80 | M64 X2 | 175 | 451 | 519 | 115 | 55 | 190 | 0.17 AE23 | 466 | 534

www.ypc.co.kr 135



o ARIC| FRE

Z+0+1/2 AERST

> MIE| Eg{L|2IE (YCDL TC)

FA G_ G_ 4-J
‘ P(PT)
282 KA 5 T /
MM LLL _ — [ /f?ﬁr—
&y L]
<
)
S X - - - — ==
_l_l—- N
AL
A F N 1T N o C
S+AEZ3 M oB
77+ AEZR3 TX
Tz
HZx 2it
Z1+0+H1/2 AERS
IS
721+ (+AEZF
SHUZ | 4o>T A |AL(0B|aC| D | E [EA| F |FA| G J K|{KA|M| MM | N|P|R|S |TDe8|TT|TX|TY|TZ
@125 | ~1000 | 50 | 47 [145[115| 36 | 90 [ 59 | 43 | 14 | 14 | M1ax 15| 15[ 31 | 27 [M30 x 15|35 [1/2| 1 | 98 |322% | 50 | 170|164 | 234
@140 | ~1000 | 50 | 47 [161(128| 36 | 90 | 59 | 43 | 14 | 14 |M14 x 15| 15| 31 | 27 |M30 x 1.5| 35 | 1/2 | 1.5 | 98 | 3600 | 55 | 190 | 184 262
@160 | ~1200 | 56 | 53 |182|144| 40 | 90 | 59 | 43 | 14 [185| M16 x 1.5 | 17 | 36 |30.5| M36 x 1.5| 39 | 3/4 | 1.5 | 106 | 40 oo | 60 | 212|204 | 292
@180 | ~1200| 63 | 60 204|162 45 [115| 70 | 48 | 17 [185| M18 x 15| 20 | 41 | 35 [mdo x 15| 39 [3/4| 2 [111] 45252 | 59 [ 236|228 326
3200 | ~1200 | 63 | 60 |226(182| 50 | 115| 74 | 48 | 17 |185| M20 x 15| 20 | 46 | 35 |Md5 x 1.5| 39 | 3/4| 2 |111] 45252 | 59 | 265 | 257 355
@250 | ~1200 | 71 | 67 |277|225| 60 |140| 86 | 60 | 20 | 23 | M24 x 15| 25 | 56 |415) M56x 2 | 49 | 1 | 3 |141|56 2% | 69 |335|325| 447
3300 | ~1200| 80 | 76 |330{270| 70 |140] 96 | 60 | 20 | 23 [M30 x 15| 30 | 65 |515) Mea x 2 | 49 | 1 | 4 |146]672% | 79 | 400|390 534
wzoxge PECETY
EdLjA
REUE H| zz | e f h 0 771
@125 | 110 | 235 | 75 | 40 | 133 | 02 AEZ= | 258
@140 | 110 | 235 | 75 | 40 | 133 | 02 AE23 | 258
@160 | 120 | 2565 | 75 | 40 | 141 | 02 AE23 | 2775
2180 | 135 | 281 | 85 | 45 | 153 | 02 AE=3 | 299
2200 | 135 | 281 | 90 | 45 | 153 | 02 AE23 | 299
2250 | 160 | 3425 | 105 | 55 | 176 | 0.17 AE23 | 3585
@300 | 175 | 3725 | 115 | 55 | 190 | 0.17 AE2=3 | 3875

136 YPC




[ oo YCL

n
o

Jin
OHl

ra
HU
n

L1
> ECELHAE > 24 HEXQIE
MM
—t— Al
d B l \
N X PR o
Z| =Z Q|
a o ﬂ
L L
=
ut
L1
EITE] =4 d H|B|cCc| D EdIfd  =H Al | E1 | LI MM HDuyo | NX | NZ |RR1| W1
3125 VCL140-NT M30x 15| 18 | 46 | 53 | 44 @125 | YCL125-Y | 8 | 46 | 100 | M30x 1.5 [25.°% |32 103 |64 34 | 27 | 42
@140 M18x15 | 18 | 46 | 53 | 44 @140 | YCL140-Y | 8 | 48 | 105 | M30 x 1.5 |285>™ (36 105 |72 13 | 30 | 47
3160 | YCL160-NT | M36x 15 | 21 | 55 | 64 | 53 @160 | YCL160-Y | 8 | 55 | 110 | M36x 1.5 |32¢>' |40 103 [80 B3 | 34 | 46
@180 | YCL180-NT | M4Ox 15 | 23 | 60 | 69 | 57 @180 | YCL180-Y | 8 | 70 | 125 | M40 x 1.5 |404%'® |50 153 (10003 | 43 | 54
@200 | YCL200-NT | M45x 15 | 27 | 70 | 81 | 67 @200 | YCL200-Y | 8 | 70 | 125 | M45x 1.5 |40¢>'® |50 io3 [100 03 | 43 | 54
3250 | YCL250-NT | M56x2.0 | 34 | 85 | 98 | 82 @250 | YCL250-Y | 9 | 86 | 160 | M56 x 2.0 504> |63 103 [126 54 | 53 | 81
@300 | YCL300-NT | M64x20 | 38 | 95 | 110 | 92 @300 | YCL300-Y | 9 | 105 | 175 | MB4 x 2.0 {635 |80 ia% (16053 | 66 | 87
=2 o = i
> LIEXQEE &l ZHAE E > 14 HEXQIE
L
m ‘ 0
[ _ 13 §
IIl = =
2-@d
Ut
L1
=4 Z | Dd9 | L | 0 | m | d | =2sm Eslj  2W Al | A2 | E1 | L1 MM HDywo | NX | RR1 | Wi
CDP-12 | 125 [253%%|815(695| 6 | 44 | @4x 40 @125 | YCL125-1 | 8 | 54 | 46 | 100 | M30x 1.5 |25:°% |32 % | 27 | 33
CDP-14 | 140 [283973|945|765| 9 | 4 | @4x40 @140 | YCL140- | 8 | 54 | 48 | 105 | M30x 1.5 [28¢™* |36 53 | 30 | 39
CDP-16 | 160 [329% |945|845| 9 | 4 | @4x40 @160 | YCL160-I | 8 | 60 | 55 | 110 | M36x 1.5 |32:>'® |40 %1 | 34 | 39
CDP-18 | 180 [40%% | 125|105 | 10 | 4 | @4x55 @180 | YCL180-I | 8 | 67 | 70 | 125 | M40 x 1.5 |40 ;>'® |50 %! | 43 | 44
CDP-20 | 200 |403%%| 125|105 | 10 | 4 | @4x55 @200 | YCL200- | 8 | 67 | 70 | 125 | Md5 x 1.5 [40 %™ |50 2 | 43 | 44
CDP-25 | 250 |50 5% | 156|132 | 12 | 5 | @5x65 @250 | YCL250—1 | 9 | 76 | 86 | 160 | M56 x 2.0 |50 5'® [63 13 | 53 | 66
CDP-30 | 300 |63351%|190|166| 12 | 5 | @5x80 @300 | YCL300-I | 9 | 85 | 105 | 175 | M64 x 2.0 |63 57 |80 3 | 66 | 71

www.ypc.co.kr 137




